ECE 320 - Quiz #4. Name

AC to DC Converters, Max/Min Circuits, Clipper Circuits. February 9, 2018

1) For the following DC to AC converter, determine the voltages at V1 and V2.
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2) For the following DC to AC converter, determine R, L, and C so that
. 250mA flows through the load
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3) Determine the currents for the following max/min circuit
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4) Determine R and Vz so that the following clipper circuit has the following Vin / Vout relationship
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5) Design a clipper circuit so that

Vout = Vin when -6V < Vin <+6V
Vout clips at -6V when Vin < -6V
Vout clips at +6V when Vin > +6V
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BONUS! One of the largest wind turbines in production today is a Siemens SWT-2.5-120 wind turbine, which

+ Is 80m tall
. Has blades which are 120m in diameter (larger than a football field), and
. Produces 2.5MW of electricity when the wind is blowing 5m/s or more (which is pretty common in North Dakota).

How many kWh can this wind turbine produce in a single year?
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How many pounds of coal will this wind turbine offset? (note: one pound of coal produces approximately
1kWh of electricity).
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